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QUESTION 1

You need to center and indent a quote on your Web page. Which is the best way to accomplish this using HTML5? 

A. Use the 

 element. 

B. Use the element. 

C. Use the style attribute with the 

 tag. 

D. Use the text-align attribute with the 

 tag. 

Correct Answer: B 

 

QUESTION 2

You have been asked to design and develop a Web site for a retirement community. What can you do to help make the
 site accessible to the elderly? 

A. Comply with the latest scripting standards. 

B. Comply with ICANN\\'s accessibility standards. 

C. Comply with WAI\\'s Web Content Accessibility Guidelines. 

D. Comply with IETF\\'s Web Content Accessibility Guidelines. 

Correct Answer: C 

 

QUESTION 3

Consider the following HTML5 code: 
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The code does not validate as HTML5. Why? 

A. The tag is missing. 

B. The tag and its attributes are missing. 

C. The 

 tag should be used outside the 

 tags. 

D. The !DOCTYPE declaration is missing a reference to the Document Type Definition (DTD). 

Correct Answer: C 

 

QUESTION 4

Which line of code instructs the browser to look for a directory named mysite that begins one level higher than
the page you are currently viewing? 

A. mysite/index.html 

B. /mysite/index.html 

C. ./mysite/index.html 

D. http://www.mysite.com/index.html 

Correct Answer: C 

 

QUESTION 5

During the initial meeting to plan a new Web site, whose input must be obtained? 

A. Shareholders 

B. Stakeholders 
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C. Web developers 

D. Graphic designers 

Correct Answer: B 
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